ASSEMBLY INSTRUCTIONS

LCC-202

WILDRIDGE,

PURVEYORS OF QUALITY POLY FURNITUR

CLASSIC SWING
330-893-4212 « www.wildridge.com

Required Tools: Parts: 2 Tl 3 3
- Mallet/Non Marring Hammer A = (1) Backrest ﬂ;gﬂg’é.ﬁfﬁ ;\Exf ool
(Do not use Metal Headed Hammer) B = (1) Seat +(1) 5/16” Washer
- 7/16" Wrench or Socket C=(1) Left Facing Arm Rest Jll 15" Locknut
4o _ - ; #1:
1/2" Wrench or Socket D = (1) Right Facing Arm Rest «(2)1/4"x 3
1/2” Bolts
«(2) 1/4"
Locknuts
«(2) 1/4"
,,,,, Washers

. (1) 5/16"x 5"
Eye Bolt

(1) 5/16"
Flange Nut

+(1) 5/16"

Hardware: - (4) 1/4"Washers
- Swing Chains - (4) 1/4" Locknuts
-(6) 1/4" x 2" Bolts -(2)5/16"x 5 3/4"

- (4) 5/16" Flange
Nuts
-(4) 5/16"Washers

Washer &
«(1)5/16"
Locknut

- (6) 1/4" Flange Nuts
-(4)1/4"x31/2"
Bolts

Eye Bolts

-(2) 5/16"x 5" Eye

Bolts

-(4) 5/16" Lock Nuts
- (4) Connecting

Links

Step 2

Lay swing on its left side and attach the right facing arm rest (D) to
side of the seat placing the hardware where shown in the picture
above and following instructions below:

#1: Slide (2) bolts through holes provided (from the outside through
the armrest into the seat), add washer and locknut and tighten.

#2: Thread flange nut onto eye bolt (with flange turned away from
eye) as far as the thread allows, slide it through the hole on the back
of the armrest from the outside, then through the backrest, add
washer and locknut and tighten.

#3: Thread flange nut onto eye bolt (with flange turned away from
eye) as far as the thread allows, then slide it through the hole on the
front of the armrest, add washer and locknut and tighten.

Next, Repeat Step 2 with left facing armrest (C).

4 N
. J
Step 1 Step 3

Attach the seat (B) to the backrest (A) where the back and seat
supports meet, using (6) 1/4"x2" bolts and (6) 1/4"flange nuts.

Attach the chains to the eyebolts with the 4 connecting links, as
shown. Your swing is now complete.

I et R il I e T T

©2017



